[ Efficiency vs vertpos |
~ 0.7

20.09
4
20.08
(8]
§0.07
(&)
£0.06
0.05
0.04
0.03
0.02
0.0

II-I-I-!.I-I-I-I-FI—I;I—I.'—I—I—LI!IIII!IIII!IIII!IIII

Ratio

0.95 d : To‘ :
1072 107 1

10 0?
TP vertr (cr%)

—=— DQM_MKFIt_TIbase

—e— DQM_mkKFit5_TT retrainOldFiles125_v2_prelimWP_epoch4
Efficiend —— DQOM_mkFit_TT_baseline_6iter

—— DQM_mkKFit6_TT retrainOldFiles125 v2 prelimWP_epoch2 wSQCD

~n 0.2

Rt ST S S
o E : : : : :
Z0.16------ [ARRAES R SRERERE R R P
> E : : : : :

LC) C
$0.14F
o L
£0.12F
(]

0.1
0.08F
0.06F
0.04F
0.02

Ratio

G20 -10 0 10 20 30
TP vert z (cm)

~ 0.5
> s
O s A S S I

€ é : : : : : :

TR S S A
s S S Sl KA
2 E : : : : : :
o S S o R
[ E : : : : : :

(;) -

0®5=15C10 -5 0 5 10 15 20

Sim. PV z (cm)




	Contents
	Page 1


